	NO	CODE PROGRAMME	PROGRAMME	SEM	TUITION FEE PER SEM (MYR)	TOTAL FEE PER PROGRAMME (MYR)
AGRICULTURE	1	UP6620001	Bachelor of Technology in Smart Agriculture with Honours #	8	8,225.00	65,800.00
	2	UP6621001	Bachelor of Agricultural Science with Honours #	8	8,225.00	65,800.00
	3	UP6622001	Bachelor of Horticultural Science with Honours	8	8,225.00	65,800.00
	4	UP6621002	Bachelor of Science Plantation Management with Honours	8	8,225.00	65,800.00
	5	UP6624001	Bachelor of Science in Aquaculture with Honours	8	8,225.00	65,800.00
	6	UP6621004	Bachelor of Agriculture in Animal Science with Honours	8	8,225.00	65,800.00
	7	UP6621005	Bachelor of Science in Agribusiness with Honours	8	8,225.00	65,800.00
BIOTECHNOLOGY & BIOMOLECULAR SCIENCES	1	UP6545001	Bachelor of Science in Biotechnology with Honours #	8	8,225.00	65,800.00
	2	UP6421003	Bachelor of Science in Biochemistry with Honours #	8	7,600.00	60,800.00
	3	UP6421004	Bachelor of Science in Microbiology with Honours #	8	8,225.00	65,800.00
	4	UP6421005	Bachelor of Science in Cell and Molecular Biology with Honours #	8	8,225.00	65,800.00
BUSINESS AND ECONOMICS	1	UP6314001	Bachelor of Economics with Honours	7	7,850.00	54,950.00
	2	UP6345001	Bachelor of Business Administration with Honours	8	8,000.00	64,000.00
	3	UP6344001	Bachelor of Accounting (Honours)	8	9,000.00	72,000.00
COMPUTER SCIENCE & INFORMATION TECHNOLOGY	1	UP6481001	Bachelor in Computer Science with Honours	8	8,225.00	65,800.00
	2	UP6481002	Bachelor of Computer Science (Multimedia Computing) with Honours	8	8,225.00	65,800.00
	3	UP6481003	Bachelor of Software Engineering with Honours	8	8,225.00	65,800.00
	4	UP6481004	Bachelor of Computer Science (Computer Network) with Honours	8	8,225.00	65,800.00
DESIGN AND ARCHITECTURE	1	UP6581001	Bachelor of Landscape Architecture with Honours #	8	8,225.00	65,800.00
	2	UP6581002	Bachelor of Science in Architecture with Honours #	7	8,225.00	56,875.00
	3	UUP6214001	Bachelor of Industrial Design with Honours #	8	8,225.00	65,800.00
EDUCATIONAL	1	UP6762001	Bachelor of Counselling with Honours #	8	6,350.00	50,800.00
STUDIES	2	UP6345002	Bachelor of Science in Human Resource Development with Honours #	8	8,225.00	65,800.00
	3	UP6145001	Bachelor of Education in Physical Education with	8	6,350.00	50,800.00

	NO	CODE PROGRAMME	PROGRAMME	SEM	TUITION FEE PER SEM (MYR)	TOTAL FEE PER PROGRAMME (MYR)
			Honours #			
	4	UP6145002	Bachelor of Education in Guidance and Counselling with Honours #	8	6,350.00	50,800.00
	5	UP6145003	Bachelor of Education in Malay Language with Honours	8	6,350.00	50,800.00
	6	UP6145004	Bachelor of Education in Teaching of English as a Second Language with Honours #	8	6,350.00	50,800.00
	7	UP6145005	Bachelor of Education in Home Science with Honours #	8	8,225.00	65,800.00
ENGINEERING	1	UP6526001	Bachelor of Civil Engineering with Honours #	8	8,850.00	70,800.00
	2	UP6523001	Bachelor of Electrical and Electronics Engineering with Honours #	8	8,850.00	70,800.00
	3	UP6524001	Bachelor of Chemical Engineering with Honours #	8	8,850.00	70,800.00
	4	UP6524002	Bachelor of Agricultural and Biosystem Engineering with Honours #	8	8,850.00	70,800.00
	5	UP6521001	Bachelor of Mechanical Engineering with Honours #	8	8,850.00	70,800.00
	6	UP6525001	Bachelor of Aerospace Engineering with Honours #	8	8,850.00	70,800.00
	7	UP6541004	Bachelor of Process and Food Engineering with Honours #	8	8,850.00	70,800.00
	8	UP6523002	Bachelor of Computer and Communication System Engineering with Honours #	8	8,850.00	70,800.00
FOOD SCIENCE AND TECHNOLOGY	1	UP6541001	Bachelor of Food Science and Technology with Honours	8	8,225.00	65,800.00
	2	UP6541002	Bachelor of Science in Food Studies with Honours	8	8,225.00	65,800.00
	3	UP6541003	Bachelor of Science in Food Service Management with Honours	8	8,225.00	65,800.00
	4	UP6541005	Bachelor of Science in Food Manufacturing Operations with Honours	8	8,225.00	65,800.00
FORESTRY & ENVIRONMENT	1	UP6623001	Bachelor of Forestry Science with Honours	8	8,225.00	65,800.00
	2	UP6623003	Bachelor of Wood Science and Technology with Honours	8	8,225.00	65,800.00
	3	UP6812001	Bachelor of Parks and Recreation Science with Honours	8	8,225.00	65,800.00
	4	UP6422001	Bachelor of Environmental Science and Technology with Honours	8	8,225.00	65,800.00
	5	UP6345007	Bachelor of Environmental Management with Honours	8	8,225.00	65,800.00

	NO	CODE PROGRAMME	PROGRAMME	SEM	TUITION FEE PER SEM	TOTAL FEE PER PROGRAMME
HUMAN ECOLOGY		1100010001	D. I. I. (M. 1911)		(MYR)	(MYR)
	2	UP6212001 UP6312001	Bachelor of Music with Honours # Bachelor of Human Development Science with Honours	8	7,600.00 8,225.00	60,800.00 65,800.00
	3	UP6345003	Bachelor of Consumer Studies with Honours	8	5,100.00	40,000.00
	4	UP6345004	Bachelor of Human Development Science with Management (Honours)	8	8,225.00	65,800.00
	5	UP6345005	Bachelor of Human Development Science with Information Technology (Honours)	8	8,225.00	65,800.00
MODERN	1	UP6321001	Bachelor of Communication with Honours #	7	5,100.00	35,700.00
LANGUAGES AND COMMUNICATION	2	UP6222001	Bachelor of Arts Malay Language and Linguistics with Honours	7	5,100.00	35,700.00
	3	UP6223001	Bachelor of Arts Malay Literature with Honours	7	5,100.00	35,700.00
	4	UP6224001	Bachelor of Arts in English Language and Linguistics with Honours	7	5,100.00	35,700.00
	5	UP6224004	Bachelor of Arts English Literature with Honours	7	5,100.00	35,700.00
	6	UP6224002	Bachelor of Arts in Chinese Language Studies with Honours #	7	5,100.00	35,700.00
	7	UP6224003	Bachelor of Arts in Arabic Language with Honours	7	5,100.00	35,700.00
	8	UP6224005	Bachelor of Arts in French Language studies with Honours	7	5,100.00	35,700.00
	9	UP6224006	Bachelor of Arts in German Language Studies with Honours	7	5,100.00	35,700.00
MEDICINE &	1	UP6721001	Doctor of Medicine #	10	50,100.00	501,000.00
HEALTH SCIENCE	2	UP6421001	Bachelor of Biomedical Science with Honours #	8	8,225.00	65,800.00
	3	UP6726001	Bachelor of Science in Dietetic with Honours #	8	8,225.00	65,800.00
	4	UP6726002	Bachelor of Science in Nutrition and Community Health with Honours #	8	8,225.00	65,800.00
	5	UP6862001	Bachelor of Science Environmental and Occupational Health with Honours #	8	8,225.00	65,800.00
	6	UP6723001	Bachelor of Nursing with Honours #	8	10,100.00	80,800.00
SCIENCE	1	UP6421002	Bachelor of Science in Biology with Honours	8	7,600.00	60,800.00
	2	UP6461001	Bachelor of Science in Mathematics with Honours	8	7,600.00	60,800.00
	3	UP6462001	Bachelor of Science in Statistics with Honours	8	7,600.00	60,800.00

	NO	CODE PROGRAMME	PROGRAMME	SEM	TUITION FEE PER SEM (MYR)	TOTAL FEE PER PROGRAMME (MYR)
	4	UP6441001	Bachelor of Science in Physics with Honours	8	7,600.00	60,800.00
	5	UP6442001	Bachelor of Science in Chemistry with Honours	8	7,600.00	60,800.00
	6	UP6442002	Bachelor of Science in Industrial Chemistry with Honours	8	8,225.00	65,800.00
	7	UP6442003	Bachelor of Science in Petroleum Chemistry with Honours	8	8,225.00	65,800.00
	8	UP6440001	Bachelor of Science with Honours in Material Science	8	8,225.00	65,800.00
	9	UP6440002	Bachelor of Science with Honours in Instrumentation Science	8	8,225.00	65,800.00
VETERINARY MEDICINE	1	UP6640001	Doctor of Veterinary Medicine #	10	20,100.00	201,000.00

Note

- · # Applicant is required to undergo an interview session before being accepted by the respective faculty.
- · Tuition fee above does not include accommodation, medical check-up, insurance, and visa processing fee.
- · Fees quoted in USD are based on an exchange rate of USD1=MYR4.20 and are subject to change due to fluctuations of the exchange rate.